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1. (a) State whether the following statements
are True or False : 1x5=5

(i) Financial statements disclose only
monetary facts.

(i) The figures shown in financia]
statements are on historical cost
basis.

(i) Current Ratio is calculated to

compare current assets and fixed
assets.
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(2)

(iv) A decrease in Stock Turnover Ratio

indicates that business is becoming
more efficient.

(u) Corporate social responsibility

reporting is not mandatory for any
business in India.

() Fill in the blanks with appropriate
word(s) :

() Profit or Loss of Life Insurance

business g determined by
Preparing — (Revenue Account/
Valuation Balance Sheet).

M) A Banking Company incorporated
in India shay have to transfer a
Sum equal to —__ (20%/30%) of
profit to g Statutory Reserve.

(iii) According LOBSRBI ¥'Guidelines. 2

Ovision of ___ (20%/30%) is
fequired for apy advance remains
doubtfy] UP to one year

(iv) Commpon Size Statem
OWI “a g

Horizontag Anal

ent Analysis is

(Vertical Analysis/
ysis),

(v) gzmpliance of Corporate Governance
s
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2. Write short notes on the following

4x4=16
(any four) :
(a) Economic Value Added Statement
(b) Profitability Ratio
(c) Corporate Governance Reporting
(d) Valuation of Investment of NBFCs
(e) Activity Ratio
() Trend Analysis
3. (@) What do you 1?1ean by tFlr;an:;aél
Statement? Explain the natur o
objectives of Financial Statement. 4+10=
Or
What is Financial Statement Analysis?
i Explain the various techniques of
i i ial Statement. 4+10=14
analysis of Financi
: “Ratio analysis is considered bettgr th-an
L ere comparison of figures in carrym%
n:1t overall appraisal of business.
0Explau‘n how ratio analysis is better tool ;
1
for appraisal.
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4L o)

(4) | (i)
1
Or ! Or
(b) Debtors’ Velocity—3 mo | b) What is corporate social responsibili
ty: nths P ty
Creditors’ Velocity—2 mongh, reporting? Explain the present legal
R . i provisions of corporate social
S SlSClhasSiimes responsibility and its reporting practices
Fixed Assets Turnover Ratio—8 times in India. 4+9=13

Gross Profit Ratio—259,

6. (a) Discuss the important provisions need

to be taken into consideration for
| financial reporting of Insurance
{ Companies in India and also state
|

¥80,000. There i no long-term Loan

gnd Bank Overdraft. Reserve and
urplus amounted to F o

Assets are ¥97333 8.’000' Liqui‘d ‘ : disclosures requirement of their
¥2,000 more than O‘p Cl_osﬂ‘lsg Hocs financial, statements as per IRDA
: €ning Stock. Bills . s =
:ecelvable and Payab]e are £ 5000 and .. regulations. THl14
2,000 respectively, J

. | 2
1nd out (i) Sales; (i) Sundry Debtors;

(iti) Closing Stock-

 (i)'S g .
) Sundry Creditors; | Advisory Group on Accounting and

(b) Discuss the suggestions made by RBI's

Fund > and (1) Proprietor’s Auditing in Financial Reporting of
Also | Banks and Financial Institutions. 14
mmypézfazre Balance Sheet with as
S as possible, 9+4=1
|
5. (@ Wh |
fep::tindg o e T R
adoptedg- bState the Various asr:: <
tranSparenci, b Usiness to enhanie
In : ‘
process. ‘lancing reporting 16}
6+7-4
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